Area esterna

Area esterna

=

Area esterna

Area esterna

Area esterna

T . T _ T T o7
Unita 1 Unita 2 Unita 3 Unita 4 Unita 5
Area=1/2.95mq Area=165.73mgqg Area=165./3mq Area=165.73mq Area=1/2.95mqg
Sopp.=92.50mq Sopp.=88.70mq Sopp.=88.70mq Sopp.=88.70mq Sopp.=92.50mq
% A ____ - e - N - S e 7
Unita 6 Unita 7
Area esterna Area esterna
Area=2/4.50mq Area=2/4.50mq
Sopp.=115.30mq Sopp.=115.50mq
Unita 8 Unita 9
Area esterna Area=274.50mgq Area=274.50mgq
Area esterna
Sopp.=115.30mq Sopp.=115.30mgq
Unita 10 Unita 11
Area=285.50mq Area=2/4.50mq
Area esterna
Sopp.=121.20mgqg Sopp.=115.50mq
] [} L] ] i ﬂ-

Area esterna

Unita 13
Area=253.65mq
7 Sopp.=93.00mq

Areg esterna

Unita 12

Area=253.65mq
Sopp.=93.00mq m

Area esterna




